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#include <stdio.h>
#include <math.h>
#include "macros.h"

#define MAXITER 30

main ()

newton (0.8, 0.74834);

}

newton (xold, sol)
?ouble xold, sol;
double £(), df();
double abstol = le-6;
double reltol = le-3;
int numlIter = 0;
int conv = 0;
double tol, x;
while (numIter <= MAXITER && NOT conv) {
numlter++;
x = xo0ld - f(xold)/df (xold);
tol = abstol + reltol * MAX(ABS(x), ABS(xold));
if (ABS(x - xo0ld) < tol ) conv = 1;
printf ("%d %e %e\n", numIter, ABS(x-sol), ABS(f(x)));

xold = x;

}

double f (x)
double x;

{

return( 1.0e-3 - 1.0e-16* (exp(40.0*x) -1.0));

}
double df (x)
double x;

return( -40.0e-16*exp(40.0%*x)) ;
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